o

@Zx

® xy @ 2xy ® 242

@ 3x




2.

O S dAlEA ] ofd A2?

@4a2 + 24ab + 9b> @ x%2-14x+49
2 1
©) a2—§a+§ @ 6442 + 32ab + 4b>

® 4x% + 4xy +y?

~&B

a’x* + 2abx + b = (ax + b)?
@ 4a® + 24ab + 9b* # (2a + 3b)?
@ x?-14x+49= (x-7)?

2
00 -3er-(e-)
@ 64a® + 32ab + 4b> = (8a + 2b)?
® 4x% + 4xy +y? = (2x + y)?




o2 5 A FA SR Q4R 4 gle AL2?

O x*-16x+64 @ 4x%2 —4x+1
1

® x2 + 8xy + 16y @x2+§x+l

® 2x% — 4xy + 2y?

~&B

@ x* - 16x+ 64 = (x - 8)?
@ 4x? —4x+1=(2x-1)?
® x2 + 8xy + 16y? = (x + 4y)?
® 2x2 - 4xy + 2y% = 2(x — y)?




4. X -6x+a=(x-b)? U5 W, ab o = FStoieh
=%

>
> ®e: ab =27

¥ —bx+a=(x-3)2=x>-6x+9=(x—b)>
a=9 b=3
woab =27




5. e T 24 Txy+10y* & 545 BT L=H(FH 271)

@D x+y @x—i—Zy @x—H’)y

@ x-2y ® x-5y

x2 + Txy + 10y? = (x + 5y)(x + 2y)




(4 + 30)(2¢ - 2)

Sojrhe ke 59| #e Fotofet

> E.

> =g 12

B

(4+31) (2t —2) = 8t — 8+ 612 — 6t
=612 +2t-8
=62 (-2)r-8

w64+ (-2)+8=12




=

o

Ho

A9]

2l

Q]
=

2x-y)(x+y)-3(2x—y) = x 2ty S A7 190 F

(

7.

® 2x+2y-3

@ x+y-1

@ o

® 3x-5

@®)3x -3

m
=)
)
)
|
S -~
ot
=
o A
o |
o &
o |
==
| |
==
S, &Y
™M o
| |

(x+y)
(x+y)
et = @AY 2x -y 2k x+y -3 9

(2x-y)
(2x-y)

~3 o]t

[e]
= o

_(_g_




8. (241 =a?+bx+cQ, atb+co Fe Tt
=
| — Y

>
> ®Met: g+b+ce=1

~&B

(2x+1)2 =422 —4x+1
=ax’> +bx+c

a=4, b=-4, c=1

a+b+c=4-4+1=1




T A X2 4 12x+ A, x% — Bx+ 49 7} SAAFA o] H L2 5H= oS

A, Bol ti5}o] A + B 9 3r&?

@ 55 @50 ® 46 @ 42 ® 38

B ~
(x+6)? = x> +12x+ 36
o A=36
(x-7)2=x%>-14x+49, -B=-14
~B=14
A+ B=36+14=50




10.

& A, B, C ofl HsiA o2& A 52 SAlEA R
2A - B+2C & oozt

@ 4+ Ax+ 1 © 9x? - Bx+4

1
® Zx2+Cx+4

Ch -
H -

>
> Hehl o

~&B

@ 4x® + Ax+1=(2x+ 1)
© 9% - Bx+4 = (3x - 2)

1 4 1 2
@Zx +Cx+4= §x+2

oJHR A=4, B=12, C=2
L2A-B+2C=8-12+4=0




11. 2<a<249 9, Va2 +4a+4- Va®2 -da+4 &

® a @2a ® 4

@ a+3 ® 2a+3

B

(Fo A)= @D - @ P

2<a<2¥9 W, a+2>0 a-2<00]B2

Via+22-4/(a-22=a+2-{-(a-2)}
=a+2+4+(a-2)=2a




12, o4 9x? —49y2 ] Q15¢] 222

@ 9x -7y @ 3x+9y @3x+7y

@ 9x+ 49y ® 3x+ 49y

9x2 — 49y? = (3x)%2 - (7y)? = (3x - Ty)(3x + 7y)




® (2a+ 3b)(2a - b)

@(2a + 3b)(2a — 3b)
® (2a+9b)(2a-b)

@ (2a+ b)(2a - 3b)

@ (4a+ 3b)(a - 3b)

‘ 4a? - 9b? = (2a)? — (3b)% = (2a + 3b)(2a — 3b)




14. o2 5 27ax® — 12ay*> & vI2 7| A4HE3) oF A2?

@ (3ax-—3y)? @ 32(3ax - 4ay)?
® 3a(32%ax — 4ay)? @3a(3x + 2y)(3x —2y)

® 3(9ax? - 4ay?)

27ax? — 12ay? = 3a(9x? — 4y?)
= 3a(3x + 2y)(3x — 2y)




15, 8x% - 10xy — 12y? & AFE5) S o, A2 A-S 1 =2H?

@4x+3y @ x-y ® x+2y

@ 2x + 4y ® 4x -3y

8x2 — 10xy — 12y? = 2(4x? — 5xy — 6y?)
= 2(x — 2y)(4x + 3y)




16.

(2x +y) (=x + 2y) 2] A AN xy o] ATE

sholat.

(F2) = -2x% + dxy — xy + 2y°
= —2x2 + 3xy + 2y?




17. ohe % Q4RaE Zlo] 24

59

> A2?

@ 25x2 - 20xy + 4y2 = (5x — 2y)2

@ax2 +2ax+a = (ax+1)?

1 1 3 2
@ga—i- a—|—16 §a+4b
4 4 < 2)
2_ = - = — —
@ x 3x—|—9 x- 3

® (xy)? +22xy + 112 = (xy + 11)2

@ ax®> + 2ax+a = a(x+1)?




18. ©]x}A4 9x2 + 10x — k 7} SAAFAl0] = ufj, A< k 9] Fh2?

) 10 25
O — ®§ ®§

5
D-T -

2
(3x)2+2><3x><§—k ojBZ k= (§)

25
Sk=——
9




19.

0<x<7dm, Va2 = T6x+ 64— Va” + 10x + 25 & 13| 5147

@—2x—|—3 @ 2x+1
@ 3x-1 ® -3x+1

® -2x-5

B

Va2 = 16x + 64 — Vx2 + 10x + 25
= /(x-8)2- \/(x+5)?

= |x—8 —|x+ 5|
=—x+8-x-5=-2x+3




ot Wgke] SoiZ 42 B Hslelat,

32 4+ [ - 96 = 3(x +4)(x +[_))

Ch "
H =

>
> 3E! -2

[ — Y

~&B

3x2 + Ax—96 = 3(x + 4)(x + B) =2t 5}

3(x+4)(x+ B) =3x*+3(4+ B)x+ 12B
=3x% + Ax - 96

12B = 964l B= -8

A=3(4+B)=-12

A+ B=-20




21. 6x2+7x+2 2 AFEAMoHH, (ax +b) (cx+d) 7 B} a+b+c+d
o] gk& Fstof et

> E.

> ®™et: 8

6x2 +7x+2=(3x+2) (2x+ 1)
La+b+c+d=8




22,

6x>+x-12 5 F xprloz

ot L
o ot
Yt

DYsx -1

@ 7x-1

@ 5x+1

® Tx+7

@ 7Tx+1

6x2+x_12:(3x_4)(2x+3)
L (Bx—4)+(2x+3) =5x-1




23.

8x? —10x+3 = F AR Qe
Tofolet

> E:

> =He D 6x-4

(FA) = (4x-3)(2x-1)°o|B=
4x-3+2x—-1=6x—-4




24. olAH ax?-3x+b7t (2x+1) F (x-2) EAFZ /M W, a+ b
o g2 Tofolt

(2x+1)(x—2) =2x - 3x-2
=ax®>-3x+b

a=2, b=-2

Ta+b=2-2=0




25. 62+ 17xy +Ay” = (2x + 3y) (Bx + Cy) & ™, A - BC ] gh& 7
ofzt.

>

> A A-BC=0

S5 ‘
(2x + 3y) (Bx + Cy)

= 2Bx? + (2C + 3B) xy + 3Cy*?

= 6x2 + 17xy + Ay?

2B=6, B=3

2C+3B=17, C=4

A=3C, A=12

L A-BC=12-3x4=0




